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-JEz 6, 1603 = 10kWx 123 % 1.1 814
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stz 258
-2z 5,500&*12&8 *1.1 73
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OEos B2 JSUHE AE
35,0003 x12& «1CH 420
OLets HIIANER 287,028
HIE(LHEE, HEY)
4,670 *4,700S 128 263,388
- ™| = (LED) 1,970&%1,0005+12& 23,640
206 TH 2 HI 98,717 75,779 22,938
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OEos Bz 7Y 98,717
-UHEBEZ
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-UHESHEE oHFD| 15,400& *4,5005 *10% 6,930
-HEdE
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Ol 2ets el S At 134,373
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OFAX G 2Bots AL I At 73,200
Bots A4 732,000 *100S 73,200
OUEIZ 5981d 23 2ots FH|
800,000& 60 48,000
OLHES T2relXNS THD 2B 2oS 3
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OE2XY Or2&EEI =gl
8,000& x 118 «12& 1,056
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-AEF 40,000,000 *3% 1,200
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Mgz - QSAIR A Mg 34,126
-JlEgs 6, 1603 *164kWx 123 x1.1 13,336
-AEE 105& «15,000kWh= 122 1.1 20,790
- Mg MIZ 11,976
-2z 6, 1602 «45kW«12& « 1.1 3,660
-ANEE 105& %6, 000kWh* 122 1.1 8,316
CREAN Y Qs M) ZEUY 2
1,345,344 128 16,145
- FEA LU BIIEA =2
1,215,000 «AH 12 1,215
OF&EA HII&Hl RAE=> 57,000
- XEXH = OH B 750,000& » 443 3,000
- S A2teldl 18,000,000& =™ 33l 54,000
OZRE A HAZEI &1 2,676
CHIER 2 A2 b SAX wH
270,000 *4 00 20K & 2,160
HEHI(BR)
1,4333 «602| Ef x0.5A1 2t~ 12& 516
SRXIZANL HLAY 200,000 0 200,000
401 A& HIZ 2018 200,000 0 200,000
01 A& HI 200,000 0 200,000
OS2 XHAIE HEAY 200,000
- Jt28 Z 1,500,000 *500H 2~ 75,000
- LEDE WM 500, 000& »200H 100,000
-JIEH &2 FHI 25,000,000& 25,000
A2 ZZAL Z| 150,000 0 150,000
401 Al HI K 201 I 160,000 0 160,000




-

B
oM EE T AIDIBEAIE =4
JIdANEZE 2el

SA - FE - BI(EA) - NRAY - By 0l &t San DS
01 A& HI 150,000 0 150,000
O2m& ZZAIE FH 150,000, 000& 150,000
8 T2 2te| 937,345 565,206 372,139
= 41,075
Al 29,412
L Hl 866,858
8= 29 837,445 565,206 272,239
101 1Al 28,833 27,410 1,423
4 JIZtHZ22HEE+ 28,833 27,410 1,423
Odttif =BT 2923A (1Y) 28,833
QIAHI (FE X EE) 113,564 3 282 «8 & 25,439
CSXEQUE Y HEHNUHSB 600,000 600
-m0ASEERE 25,439,000% «4.5% 1,145
- RPALBEEE 25,439,000 *3.43% 873
FIRLEER 873,000& x11.52% 101
ns8gs 25,439,000 *1.65% 420
MHEE= 25,439,000 *1% 255
201 Lt 2| 530,612 531,796 A1,184
01 Ar22t2l bl 2,980 2,980 0
Oti+=EBZ 220 & JI2SE+Y 1=
160,000& » 15 2,400
Oti+=Bo I IFANE 30,000& x6& 180
Otf=B8o AN A2F 100, 000& 42| 400
02 =24l 527,632 528,816 A1,184
OZFgE1-2, oti+=8Ed wNs, 3H &
& AtH| 3,534
SOt M 22| AL & 3l 100,000 =2 200
dojordate| @ &3yl 70,0003 *»3H 210
=t 2el it g3l 36,0003 x2H 72
et zte] HAE ¥ XNRWE 400,000 +5H 2,000
=B ZZ MI|LH BAs===2
1,050 *910kWx1. 1 1,052
Oti=8Sd AM&EZH sX 163,443
HEIEZE B (1801)
13,000,000 *18CH %7% 16,380
ZEigEE Dg2H L AX(18t)
8,000,000 «18CH x7% 10,080
FB1BELE 2==HMEII(1200)
10,000,000 «12CH %7% 8,400
gz A E I (600HP) R &
1,433& x2,0004 2,866
S Y2B T Hi+=E = (320HP,504)
13,000, 000& *5CH x20% 13,000




2N
X ZH -
L= B

el

SA - BB B () - MM - BES Ol &t o San HmEET
TUBELE JUoQH 2 A (50)
,000, 000& *5CH *20% 6,000
ZE2EIE HlAZAI(1,069kW,2CH)
7,373& «1,069kW 7,882
HEPEIH HINEEI 85
1,433& x2,0004 2,866
GHE 18 I & HH =~ & I (355HP, 504 )
13,000, 000& »5CH x20% 13,000
SOPEH BT A DAR2H Y AX(50)
,000, 000& *5CH *20% 6,000
- OHEHE A Yl A A DI (1,569KW, 1CH)
7,3733«1,569kW 11,569
- ofH2E I & i ==& I (500HP,4LH)
13,000,000 »4CH x20% 10,400
==& g§&8Sxe &4
300,000& x50 m* 15,000
CHAEIE ABALE S SN2
20,000,000& 20,000
CHIEQENTAL NEFY RN24H
10,000, 000& 10,000
Oti+=8ZZ 23223 370,655
SEdEIEEEY M= 190,405
-HERoE S0 97,735
2z 8,320 *1,900kW x5 =1, 1 86,944
AEZ 1093 18, 000kWh*5& *1. 1 10,791
-Y4AREE S0 92,670
gz 8,320& *390kW*12& *1, 1 42,832
MNES 109% *34,638KWh*12& 1.1 49,838
oo Moz 29,640
-HERoE S0 19,444
2z 8,320 *400kW x5 %1, 1 18,304
AEZ 1093 *1,900kKWh*5& x1. 1 1,140
- HdARotE MY 10,196
2z 5,550 x68KW* 122 %1 . 1 4,982
AESZ 793 +5,000kWh*12& *1.1 5,214
StEHEIEE M= 38,432
-HERoE E0 18,387
gz 8,320 *390kW x5 %1 . 1 17,847
AEZ 1093 x900KWh*5& x1. 1 540
- 4ANRotE M 15,410
2z 5,550& x68KW* 122 1.1 4,982
INE=2=3 79&*10,000kWh*12& *1.1 10,428
-NotEE &MIlE 4,635
2z 5,550 3 «6KW 122 1. 1%2J0 & 880
AEZ 793 *1,800kWh* 128 1. 1%x2J4 & 3,755




AN S

S OFMEE TAIDIBIAIE =4
Sl HAEDT 2 (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
OB DY MIe= 108,625
-Jle2g
(8,320 *320kW+7 & +8, 320*3, 000kW*60%*5 102,869
2)1. 1
-AEE 1093 4, 000kWx 128 x1. 1 5,756
ottt HEsEHIZ MIIeZ 421
-2z 6, 1603 *5kWx 1200 3 1.1 407
-AEE 1053 «10kW= 1200 & %11 14
BEEDE & 5ac2
66,0003 31 262 1,188
B+EIE sS4
40,0003 *3H #1228 *1.1 1,584
BHABIN 23293
60,000 *3H 2 +23] 360
206 = Hl 6,000 6,000 0
01 MHZ 4l 6,000 6,000 0
Oti+=8ZZ 2H=3 6,000,000& 6,000
401 Al HIZ 201 272,000 0 272,000
01 A& HI 272,000 0 272,000
OBZH His=ds 3E & 2IMH 89
22,000,000& 22,000
OB E5+ EL3A 250,000, 000& 250,000
20229 & ATHAMUH AKX =HCHIIBFEHALS 99,900 0 99,900
= 41,075
AlHI 29,412
L Hl 29,413
401 Al HIZ 201 8] 99,900 0 99,900
= 41,075
AlHI 29,412
L Hl 29,413
01 A& HI 99,900 0 99,900
O =EZ & LA LH &X
99,900, 000& 99,900
= 41,075
Al HI 29,412
I 29,413
OFM s T Al 22| 761,772 511,608 250, 164
CCTV SE2HMEH 29 761,772 511,608 250, 164
CCTV Se2HdEH 29 761,772 511,608 250, 164
101 14 dl 348,706 301,013 47,693
04 JIZHHZ2XNHEES 348,706 301,013 47,693
OSg2HdH 2HA 348,706
QIAHI (FE X ELE)
82,016 x9H »28L «12& 248,017




AN S

HH: OFE T AR
il

S CCTV SE2HHYH 29 (2 &HH)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
o2t =&t 10, 252& *50%*9H x768 Al 2+ 35,431
- H5U22Y 82,016& »9Y x19 *150% 21,038
- SAEE 300,000& x9H 23| 5,400
-HEMNUHZ 300,000& x9H x23| 5,400
- RUAZEEREHZ 304,486 ,000& *4 . 5% 13,702
DAL EEHEEHZ2 304,486,000& *3.43% 10,444
NEBEEH3 304,486,000& *1.65% 5,025
ATHEEEEZ2 304,486,000& * 1% 3,045
SOOI RUYBEHELE =S
10,444,000 x11.52% 1,204
201 LEr2 Y| 255,521 209,785 45,736
01 AP 2t2l bl 21,359 18,419 2,940
ORHEE #*¢ 350,000& 128 4,200
Ou=snl € =22 H& 2,000,000& 2,000
O&Fx=I| MNEZ 47 ,500& =20 12& 1,140
OHtOI A A BHAL(S/W) 14,019
Win AHE 435,000& *32 1,305
Lin NHE 595 ,000& 20 11,900
- PCE 37,000& x222 814
02 352494l 234,162 191,366 42,796
OCCTV Sdle=a ¥ dMIIe=2 44 154
CCTV & & 3232 95,0008 118 &«~12& 12,540
SOIHY SN2 470,000 x12& 5,640
CCTV &Eol=2 6,500 *333H A~ x 128 25,974
OCCTV S EZHAAE A2 190,008
gtHE St A QX 22l
17,000, 000& *7%=*1. 1 1,309
gHE CCTV SAE %
728,893,962& *8%=*1. 1 64,143
-8 E CCTV s &AHl =&
4,000,000& x4 4! 16,000
- SEEMAIAL (H/W) X222l
832,277,220 *8%=*1. 1 73,241
- SEETMAIAL(S/W) KXl
267,530,720 *12%* 1.1 35,315
203 2P E= | 810 810 0
03 Al F=X AR =AH| 810 810 0
OSE&MAH EL2=&H| 900,000& *90% 810
405 KHo&HFE S HI 156,735 0 156,735
01 JHMHYE =2 Z F S H 156,735 0 156,735
OCCTV S EZHAAE HdH 22 156,735
CAMNMAEEXI(AERIX) POH
45,500, 000& 45,500




AN S

g ohEE ZA
2

e CC

= d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
MEZHMH 2 0H 14,500, 0002 »24! 29,000
LY MASSEXI(UPS) A
33,300, 000& 33,300
-2EE TV A &E Jtolict wH
1,882, 100 =26 CH 48,935
HH2IZH (A SZ ) 113,916 111,510 2,406
Jl2Z3l 113,916 111,510 2,406
JlE&l 113,916 111,510 2,406
201 ¢er24l 24,306 24,306 0
01 At 2t 2l 24,306 24,306 0
ORM2E =&t 11,916,000& 11,916
OJlege+8d Sl 11,750,000& 11,750
oss4 29 640,000& 640
202 044l 82,320 79,968 2,352
01 = LH o4 1l 82,320 79,968 2,352
OJl2gS2=3 bl 280,000 *35H x12& x70% 82,320
203 ¥ S =&l 7,290 7,236 54
01 J228Y2=4H| 2,700 2,700 0
OJI228 =2l 3,000,000 x90% 2,700
04 NI 4,590 4,536 54
ORAN2EYEF=AHI 5,100,000& *90% 4,590
HRas(tdEs2) 618,099 580,552 37,547
WEHHX S 618,099 580,552 37,547
=l E=ar=1 618,099 580,552 37,547
702 I3 HEES 618,099 580,552 37,547
(RPIE=RSE-<A= 618,099 580,552 37,547
OM:t2eldlz 618,099,000 618,099




